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T i 4, 6-10 84-96 9.0 FL
FAHE (mg/) 100 <20 <20 kL
BEPR P EL (me/) 10 <1 <1 R
RPEPIEE (mgh) 2000 1100 - 1550 1333 AL
PR ED (mel) 10 <0.5-4.8 1.3 Rk
TP E (mgh) 0.1 <0.040 <0.040 &L
RR Y7 [ AR ED (mg/l) 100 <15-15.2 15.0 kL
I (melh) 20 <10 <10 kL
e (mg/) 0.5 <0.3 <03 R
REREAHEE (mg/) 1 <0.6 <0.6 P
A POE ER (mg) 15 <3-49 4.0 kL
(- FRE (mgl) 2500 145 - 1061 522 XL
ERERE (mel) 200 31.7 - 54 42.6 Rl
& (0 43 19 - 23 20.7 R
EEIR Pu BREEY | BRI Y | BRI T P
EE &

fHt (mg/D) 2 <0.4 <0.4 KL
%1 (mg/) 5 <1 <1 L
g1 (mg/) 0.1 <0.1 <0.1 Kl
S (mell) 1 <0.3-0.31 0.30 R
it (mg/l) 2 <0.5-0.6 0.53 L
& (mgll) 2 <1 <1 P
& (mg/) 5 <0.2 <0.2 P
%< (mg/l) 0.05 <0.05 <0.05 Kk
20 (mg/l) 2 <1 <1 KL
=L (mg/) 2 <0.4 <0.4 P
&4 (mg/l) 5 <1 <1 P
& (mg/l) 2 <1 <1 L
I E & REE# £L
(mg/) 10 <71.0-17.1 7.0
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] (mg/) 5 <1 <1 P
& (mg/) 10 <2 ) P
=
Aldrin (mg/l) 0.01 <0.01 <0.01 xl
BHCS (mg/l) 0.01 <0.01 <0.01 xl
R CHE (mg/) 0.01 <0.01 <0.01 xlk
FTHREHP:
* J (mg/) 0.1 <0.06 <0.06 &L
HREAP
1,1,1-= & ¢ %€ (mg/) 0.05 <0.025 <0.025 xl
‘%Ek&"’ﬁ"’vﬁ :
% T % GEE (mg/) 0.003 <0.003 <0.003 &L
Bt i Po T
B TR 5 &l L
(pc/l) 10000 <10000 <10000
51-226 (pe/l) 30 <30 <30 *L
#R1-90 (pe/l) 100 <100 <100 KL
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B (mg/m’) 30 0.0 - 0.4 0.0 P
= & [Tk (mg/m) 200 0.0 - 137 4.9 kL
B¥TE  (mg/m’) 60 0.2 - 23.6 2.8 Kl
fi (=& (mg/m’) 4 0.0-0.1 0.0 kL
PRl ]
(M) = & 2FED
(mg/m’) 400 51.0 - 264.8 106.6 L
ME AL (mg/m”) 20 0.0 - 3.9 0.0 kL
— F (" (mg/m’) 100 0.0 - 54.4 2.2 Kl
(&) plHfm @
fFr (mg/m’) 10 0.02 - 0.07 0.04 gl
Z F [ (mg/m) 50 0.1 - 261 5.0 bl
B¥TA  (mg/m’) 10 1.6 - 4.7 2.9 Rl
g (& (mg/m’) 1 0.00 - 0.01 0.01 kL
Pl
1= & (57D
(mg/m”) 200 89.3 - 1343 105.7 Kl
FE SR (mg/m) 10 0.00 - 0.10 0.02 Fl
- § [~ % (mg/m’) 50 0.7-5.0 2.2 kL
LS
BREOP
(P 5% {3 B R ED
(mg/m’) 24 <14 <14 ol
R AR
() g 1= & (1 BEREED
(mg/m”) 18.8 <1.2 <1.2 kL
P (1) PR )
(mg/m’) 37.5 3.9 3.9 KL
R (I BEEEED (mg/m’) 5.5 <0.191 <0.191 £L
EORE & (mg/m’) 5 3.1 3.1 Fol
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Bl (mg/m’) 0.05 <0.010 <0.010 FL
BEEX (CEE. DR
fill (mg/m’) 0.06 <0.002 <0.002 FL
& R DA
Bl (mg/m") 0.5 <0.065 <0.065 Bl
%< (mg/m’) 0.05 <0.002 <0.002 kL
T (ng/m) 0.075 0.0019 0.0019 FL
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%) 12-12.7 12.5 £L
B F 5T P (%) |30 (B (S

%) 42 - 86 67.4 FL
HEES
&% (ppm) 0.5 <0.5 <0.5 KL
% (ppm) 0.1 <0.02 - 0.034 0.02 &L
S AE (ppm) 10 <0.5 - 0.55 0.5 kL
st (ppm) - <0.5-4.8 1.7
1 (ppm) - <0.5-0.93 0.5
i (ppm) . <1-42 1.2
& (ppm) - <0.5-5.9 0.8
%\%l\é_‘lz‘l\%j{lé[fj
AEN (ppm) 25 <2.5-94 4.2 FL
& (ppm) 20 <1 <1 KL
% (ppm) 10 <5 <5 Rk
Z 5 & (ppm) 10 <1-56 1.4 &L
& ["P7 (ppm) 5 <5 <5 P
5y #5)
PG
& (ppm) 5000 <15 <15 PN
(ppm) 10 <5 <5 Fol
A GO O
(ppm) 2 <2 <2 ol
“F %% (ppm) 1 <l <l kL
TCDD (ITEF ¥ )
(ppb) 1 <1 <1 L




